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Guess Paper – 2010
Class –X
Subject – Maths
PRACTICE QUESTIONS FOR CLASS X

(BASED ON PROBABILITY/POLYNOMIALS/CONSTRUCTION/LINEAR EQUATIONS/QUADRATIC EQUATIONS)

1. A bag contains 4 white balls, 6 red balls, 7 black balls and 3 blue balls. One ball is drawn at random from the bag. Find the probability that the ball drawn is:

a. White
b. not black
c. neither white nor black
d. red or white

(3)

2. All the three face cards of spades are removed from a well shuffled pack of 52 cards. A card is drawn at random from the remaining pack. Find the probability of getting:

a. A black face card
b. a queen
c. a black card
d. a face card

(3)

3. Find the probability of getting 53 Fridays in a leap year.

(1)

4. It is given that in a group of three students, the probability of two students not having the on the same Birthday is 0.992. What is the probability that the two students have the same birthday?

(1)

5. A box contains 17 cards numbered 1,2,3,4,5,6………..17 and are mixed thoroughly. A card is drawn at random from the box. Find the probability that the number on the card is:

a. Odd

c. prime
d. divisible by 3

e. divisible by 3 and 2 both

b. Divisible by 3 or 2


(3)

6. Two dice are thrown simultaneously. Find the probability of getting:

(3)

a. A doublet
b. a total of 9
c. sum of atleast 10
d. sum divisible by 5

7. Construct a triangle with side BC=6 cm, 
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then, construct a triangle whose sides aretimes the corresponding sides of triangle ABC.

8. Draw a line segment AB of length 8cm. taking A as centre, draw a circle of radius 4cm and taking B as centre, draw another circle of radius 3cm. Construct tangents to each circle from the centre of the other circle.

9. Draw a triangle ABC with side BC=8cm, AB=6cm and
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. Construct another triangle similar to triangle ABC whose sides are 
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time the corresponding sides of triangle ABC.

10. Construct a circle whose radius is equal to 4cm. let P be a point whose distance from its centre is 6cm. construct two tangents to it from P and measure the length of the tangents.

11. Find the zeroes of
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and verify the relationship between the zeroes and the coefficients.

12. Find a quadratic polynomial whose zeroes are
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13. Find a quadratic polynomial sum and product of whose zeroes is
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14. Find a quadratic polynomial whose zeroes are
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15. Find all the zeroes of a polynomial
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, given that two of its roots are
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16. On dividing the polynomial
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by a polynomial g(y), the quotient and remainder were
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respectively, find g(y).

17. On dividing the polynomial
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by a polynomial g(x), the quotient and remainder were
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respectively. Find g(x).

18. Find the value of ‘k’ for which the given pairs of linear equations have infinite solutions.
[image: image15.wmf](

)

(

)

1

8

9

1

5

1

-

=

+

+

=

+

+

k

y

x

k

y

k

x


19. Solve for x & y:
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20. Draw the graphs of the equations
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determine the co-ordinates of the vertices of the triangle formed by these lines and the x-axis, shade and find area of the triangle so formed.

21. The coach of a cricket team buys 7 bats and 6 balls for Rs3800. Next day, he buys 3 bats and 5 balls for Rs 1750. Find the cost of each bat and ball.

22. A man has certain notes of denominations Rs 20 and Rs5 which amount to Rs380. If the number of notes of each kind is interchanged, they amount to Rs60 less than before. Find the number of notes of each denomination.

23. A lending library has a fixed charge for first three days and an additional charge for each day thereafter. Sonu paid Rs27 for a book kept for 7 days, while Rani paid Rs21 for a book kept for 5 days. Find the fixed charge and the charge for each extra day.

24. If we added 1 to the numerator and subtract 1 from the denominator, a fraction reduces to 1. It becomes 
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if we only add 1 to the denominator. What is the fraction?

25. The sum of a two digit and the number obtained by reversing the digits is 66. If the digits of the number differ by 2, find the number. How many such numbers are there?

26. The area of a rectangle gets reduced by 9 sq. units, if its length is reduced by 5 units and the breadth is increased by 3 units. If we increase the length by 3 units and the breadth by 2 units, then the area is increased by 67 sq. units. Find the perimeter of the rectangle.

27. 3 men and 4 boys can do a piece of work in 14 days, while 4men and 6 boys can do it in 10 days. How long would it take 1 boy to finish the work?

28. A train covers a certain distance at a uniform speed. if the train had been 30 km/hr faster, it would have taken 2 hours less than the scheduled time. If the train was 15km/hr slower, it would have taken 2 hours more than the scheduled time. Find the length of journey.

29. A boat goes 30km upstream and 44km downstream in 10 hours. In 13 hours, it goes 40km upstream and 55km downstream. Find the speed of the stream and the boat in still water.

30. Solve the system of linear equations:
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31. Yash scored 40 marks in a test, getting 3 marks for each right answer and losing 1 mark for each wrong answer. Had 4 marks been awarded for each correct answer and 2 marks deducted for each wrong answer he would have scored 50 marks. How many questions did he attempt in the test?

32. Solve for x: 
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33. If the equation
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has equal roots, then prove that
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34. Solve for x:
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35. Find the nature of roots of the equation
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36. Find the value of ‘k’ for which the equation
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has equal roots.

37. The sum of squares of two natural numbers is 116. If the square of the larger number is 25 times the smaller, find the numbers.

38. Divide 14 into two parts such that the sum of their reciprocals is
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39. The altitude of a right triangle is 7cm less than its base. If the hypotenuse is 13cm, find the other two sides.

40. A two digit number is such that the product of its digits is 24. When 18 is subtracted from this number, the digits interchange their places. Find the number.

41. An aero plane flying with the wind of 30km/hr takes 40minutes less to fly 3600km than what it would have taken to fly against the same wind. Find the plane’s speed in still air.

42. When the price of an article is reduced by Rs2, 5 more articles can be bought for Rs120. Find the original price of each article.

43. Some students planned a picnic. The budget for the food was Rs1500. But 10 of them failed to go and thus the cost of each member increased by Rs7.50. How many students arranged the picnic?

44. In a class test, the sum of the marks obtained by P in mathematics and Science is 28. Had he got 3 more marks in Mathematics and 4 marks less in Science, the product of marks obtained in the two subjects would have been 180. Find the marks obtained in the two subjects separately.

45. The sum of areas of two squares is 640m2. If the difference in their perimeters is 64m, find the sides of the two squares.
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